
A

THE IMAGES ARE FOR REFERENCE ONLY.

DETAIL A
SCALE 1 : 8

DOWEL 1/2" X 1-1/2"

B

DETAIL B
SCALE 1 : 8

METAL BRACKET

STEP 1

WITH THE HELP OF SOMEONE ELSE TURN THE TABLE 
AND PLACE THE TOP ON A FLAT SURFACE. PLACE 
THE WOODEN BOLT INSIDE THE HOLES OF TOP
AND THEN ALING THE LEGS HOLES WITH THE 
WOODEN BOLT AS SHOWN IN FIGURE "A"

(A)

(B)

ONCE THE LEGS ARE IN THEIR PLACE, POSITION
 THE METAL BRACKET AS SHOWN IN FIG. "B"

STEP 2

DESCRIPTION #
DOWEL 1/2" X 1-1/2" 12

UNION SCREW 1/4" X 3/4" 32

ALLEN KEY 5/32" 1
I-TBL-E027

ASSEMBLING
INSTRUCTIONS



C

D

DETAIL C
SCALE 1 : 5

"NOTE: FIRST TIGHTEN THE SCREWS INTO THE 
LEGS AND THEN TIGHTEN THE SCREWS INTO THE TOP

UNION SCREW 1/4" X 3/4"

DETAIL D
SCALE 1 : 5

UNION SCREW 1/4" X 3/4"

(D)

ONCE THE HOLES HAVE BEEN MATCHED PLACE THE UNION SCREWS
1/4" X 3/4"  AS SHOWN IN FIGURE "C" AND TIGHTEN THE SCREWS

PLACE THE UNION SCREWS 1/4" X 3/4"  INTO THE 
TOP AS SHOWN IN FIGURE "D" AND TIGHTEN THE SCREWS.

(C)

STEP 3

STEP 4

DESCRIPTION #
DOWEL 1/2" X 1-1/2" 12

UNION SCREW 1/4" X 3/4" 32

ALLEN KEY 5/32" 1

ASSEMBLING
INSTRUCTIONS

I-TBL-E027



ITEM DESCRIPTION #

1PER012 TORNILLO DE MADERA 10 X 40 MM 12

1TOR038 TORNILLO PERNO UNION DE 1/4" X 19 MM 32

1HER250 LLAVE ALLEN 5/32" 1

RECUERDA QUE LOS TORNILLOS PERNO UNION SE PINTAN DE COLOR 
CAFE CAMELIA

I-TBL-E027

ASSEMBLING
INSTRUCTIONS


	Hoja1
	Drawing View2
	Detail View A (1 : 8)
	Drawing View4
	Detail View B (1 : 8)

	Sheet1
	Drawing View6
	Drawing View8
	Detail View C (1 : 5)
	Detail View D (1 : 5)

	Sheet2

